L =n gree = P X A9 /A8asug
001 010

s[enpisay

v0—-d98°1 -+ vo-dvve = WJOoN T T [TT1T 1 1T 1 T T [TTrT 1T 1T 1
10-309' -+  10-3¥2 = [AeY] L - + LT :
H : - Jﬁxf T ]
20-398'9 —+ 20-39¢€'T = HN - + -
€1-3G6'S = xni4 - + + | .
20—-4€2'9 = 9jed OOQW [ 1 | I T T B 1 N A
A9/ AS1auy A9¥ /ABasuy
001 010 001 010
_______ | | _______I II_ | _______ | | ______I
. oL 1
4 -01 w.. L
[ -
S 1 I
- o] | Ry _
w
- ~ T -
| - a B i
yﬁ = == T ]
7] [AV] - ]
- %)
— ¢-01
o =~ |
. s

i : H

(A®¥ s)/syuno)

90979¥—-Lv0€EVOlr SXd<S eXauw, wures G810 0ISce6



